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Sedatives Antibiotics Antiseptics Analgesics | The drugs used to reduce pain are called:
g A L;J‘-J:JI _c/)‘{t;' ?-:’,b/ug gé-‘flt'ﬁ’{dj”{?" 2
Interferon Insulin Thymosin Urokinase | Which is antiviral protein?
(sl v U A :‘L‘J&J.;g(/l,&&, vz 3
Tapeworm Ascaris Virus Mosquito | Example of ectoparasite is:
Losd3) oy ST Jphny gttt el 2 e | 4
Omnivores Herbivores Oxygen Producers | Which is mmlc compofient of the ecosystem?
Nz o # 7 f™ RO e Fis| 5
Traits Phenotypes Alieles Genes Inherited characteristics are called:
LU sy LpE ) Lo feri Jiz| 6
29000 28000 26000 24000 How manypea plants were used in the experiments
of Mendel? :
U b £ o UL ‘e )’rb»luirc_. v/(c;gsgzd;'-cz_.l T
. \ . | The simplest and most common method of asexual
Meiosis Spore formation Budding Binary fission reproduction is:
=/ =¥ | b | S ¢ U UUIAL WAL UnY| 8
Anther Petal Ovaryall Oyulewall | After fertilization in plants, the fruit develops from:
o oS e Slusg ST WFL B8] 9
Osteoclast Collagen Osteocytes Chondrocytes | The cells of cartilage are called:
o gy o6f o e Lt 10
Pepsinogen Glucagon Thyroxin [nsulin All of these are hormones except:
w/ ot f =T S bansK SPHpSTS | 11
Kidney Stomach Liver Intestine Which organ is responsible for filtering the blood?
o ) s ; oL t=.Li| 12
Many How many bronchi are there in the air passageway?
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( Part-1
Werite short answers to any FIVE parts.
Describe structure and function of vocal cords.
Write symptoms of Pneumonia.
Write harmful effects of smoking on teeth.
Briefly explain the process of guttation.
Describe two characteristics of hydrophytes.
What are receptors? Give two examples.
Describe structure and function of Sensory neurons.
What is meant by myopia?
Write short answers to any FIVE parts.
Define exoskeleton and endoskeleton.
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Differentiate between immoveable (fixed) joints and slightly moveable joints,

Write advantages of vegetative propagation of plants.
Define alternation of generations in plants.

Define DNA replication.

Differentiate between dominant allele and recessiveiallele.
Write two main sources of variations.

Write names of four inheritable traits in human. .

Write short answers to any FIVE parts.

- What is eutrophication? Give its Sne reason.

Define assimilation.

Describe inter relationship, between sucker fish and shark.
What are effects of ozone depletion?

What are interferons?

Write two important achievements of genetic engineering.
Whatiis différence between analgesics and antibiotics?
Differéntiate between bactericidal and bacteriostatic antibiotics.
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Part - II, Attempt any TWO questions. Each question carries 09 marks.
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Write notes on Xerophytes and Halophytes.
What is arthritis? Describe its types.
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Describe the role of receptors and effectors in a coordinated action.
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Define binary fission and explain the process of binary fis
Write objectives of genetic engineering.

Write a note on narcotics.
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sion in bacteria with the help of diagram.
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